lel oo obooo

gogn bbb oooooooooboon
goon

goon gooboobobobooooon

HEN 17.00/0

gogn Udon:KSHC
DJM1815:M18*1.5

goon goobboobobbooooooboboon

ERERERN 0512-57096502 15190112848

ot

O 000000 oooDDbOooooodood/kshechOODOODDODOODOODO,0DO0O00O0O
000000000000 00D0DO000O00D0DOOo0ooooDoOOoooOMdy/dmOocooonog
000000000000 009vw Oooooooooooooooooooooooooo,o
O00,0000,0000.000000000dmiso011500000000003
O0000000000 djyl1812/970 000 00 OO O O http://ch.gongchang.com/
000000000000 O http://shop1424919684944.1688.com

0000000 D :http://my.b2b.makepolo.com/ucenter/supply_index.php

00000000 O http://tangjiguang.jdzj.com/ O O O O O O O http://www.kshc2014.com/

goboboob:dd

???7?7?:775us30477?7?

????7??250° ????1.8mpa?18???




gooooboobooobooboboooboobobooboo/boobboobOoobnbOon
gooo

guoooob:on

??7?7?7?:?7?75us304777?

???°?7?7?250° ??7??1.8mpa?18??7?

DPVVVPP?PPPPPV0V??????7?7?7

DPVVVPP?PPPPPV0V??????7?7?7

DPVVVPP?PPPPPVV??????7?7?7



??7?~

PPV VVVIVVIVVIV??II

DPVVVVP?PPPP??V0V?????7?7?7

DVVVV???????7?77~

PPV ?7?7?7?7?

kshedmdyD OO OOOOOooOooDODOODOuwdzDODODODODODODODODOODO,000Db0ODOD
goboboobboooooobobobbtodoooooboobobooooooobboobobbooooa
OOoooooobobobobobuoboboboobooooooob0obUobODdmle1s-87



djm1615-97djm1615-1150 0 0000 0000000000000 0O0O0O00O0O0O0O0O0O000ODDbOO0
OoOoobobooobooboboobuoobob ooobzelcboobooolb

0 [0 0512-570965020 [ [1 1380906566001

0 00512-50329611 |0 0D 000000 oooboobobooonDg

guoooobbuoooooobod

djm1615-97,djm1615-87,djm1615-115

,djm1815-87,djm1815-97,djm1815-115,

djy2212-115,djy2212-97,djy2212-87 ,m16*2.0¥115mm0 djm1620-115

djy1712-115,djy1712-97,djy1712-87 djm1810-870] djm1820-970 djm1820-87C] djm1820-1150) djm1810-97
djm1810-115 djm1610-970) djm1610-870 djm1610-11501 djm1820-970] djm1820-115

djm2015-87,djm2015-97,djm2015-1150 djy1815-97,djy1815-87,djy1815-115

0000000000 http://ch.gongchang.com/

0000000000000 http://shopl424919684944.1688.com

0000000 O :http://my.b2b.makepolo.com/ucenter/supply _index.php

000000 OO 0 http://tangjiguang.jdzj.com/

0000000 http://www.kshc2014.com/0D 00000 DomronD OO0 0O 0 e32-rl6 0000 0O O
0000000000000 0OO DO http://tangjiguang.jdzjcom/C 00000000
00000000000 djy1812/97dyy/dmO 0000000000 OOODOO0OOOONOY.9%000
Oo00ooooOoooooooooobbooooooo, 0000, 0oo00,00o00b.0000 dy2612-97
O000000000dm1615-97000 00000 kshe

O000O0Odyl1812-870 0 0O 00O 0O O Odjm2015-1150 0 0 0 0 O O O kshe O djm
dyDOODOODDOO0OO0OO0D0DOO0OO0O0O0ODOdm1610-97000

djm2020/8700 00 O 0 m20x 1.0x 115mm O O O djm1815-115 kshe OO [0 [0 0512-57096502
http://www.kshc2014.com/cp_view.aspx?id=93430 D 0 0 0 OO0 OO O0O0Odoon
O0000Odj2212-155kstt0 0 0000000000000 O0OOOOdy2212-115kstt0 0 OO O O34

O000000o0ob0oobobooobooobooo3slooobooboooboobooooo
goboooboooooad



115kstt 0 0000000000 boooooo,oobo@ooooDboobooo/oooDb bo
UObobobDbO000dodddnnDos12-570965020 U U 0 13809065660 U U U OO OO ODODOOOOOO
0 djm1610-87 m16*1.0*87mm I 000000000000 DOO 00O O 0O Odjy2212-1158797mm O 0 0 O
Oo0ooobodoOdm/yCDOooooobooobooooboooogewoooooooboo
goobobobboooooobbobo .o, oo, bbb bbboooooo
gobbobobbdodogoidoboobicbbbodggogooboobbooooooonbon
O

guoooooood

gobobobobbododoooobobobboog oo oboobbooooooobobobobooa
gobobobobbooooooobbobbbodoogoob bbb bDbDbbbooUood
oobooo@yoo@)yooboobuoobobooboobobooboobboobbooobobo
gobobobobbooooooobbobbbodoogoob bbb bDbDbbbooUood



guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gooobobbboooboobgoooobobobbuoooobobbuooobobobbuouoo
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gooon

guodoooobbouoooad

igoboboboogoooooobboooobobb oo oobobboooooooon
ijggooooboooooooboobobboooooob bbb bbboboa
jgooobobbbtbdouooobobbbbooooooobo
Abpdooooobobbbodoooooobobooboobood
sgdguobbbbtbdooooobbbbtooou e bbb bbboOoo
Ooooboboobooboboobuoobobuoobboobobog(@oo)o

oo dggouobbgoooobobbouoooobooobog
guuugoboobobbboooooooboboboooooooboboobobbooosobnbbbboaa
Oo0o00o0oooobooboboobooobooboobDboobOoooDboooOo@ooD)g 100
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guodoooobbouoooad

O0000oo0o0ob0oobobooboobobooboobobooboo@oo)o
nogoooooboodooooobobboooooobobobobbooaa

200000 10ma04dmad 20mal DO 000D ODODO0O0000OOO
podoboboobobobooogoooobobbboooooooobooobbbooooooubboboDbo
uoooooobooooogre obbbbobooooooobbbbuooo

5.000000000000000D0D00DO00O00DLD0O0DDLDO0O0ODDLDOoUDOD@WO)H)YD(@Ooo)Ho
le.0bo0oboobobooobooboboooboobobooboobboooDboobbo@W@ooHu

goboooboooooad

OO000000D0O00000s50ke 000 0ODOOOOOOOOSkwDOODOO0DODODDOODOODODOO
O0o00oo@ouoooboooossy)yooooboooooobooooooboo
00000000000 b0obOobOobOobOoooo
O0000000D000000D0DbO0< 200m(00OO< 70m)

00000000 10ma(rid 1kw ),4mall 20ma(riC 500w ) (D O O0)0 OO0 OO0 O D0 O 0O O ac220vd 3ad
0000000000000 DOO0ODOO0DO0DO0DO0ODO0DO00bO0bOODOODODOn
O0000000000D0=210000000 O00O0Oac220vt: 10%050hz¢ 1hzO0O0O0O0OO0OO
OD000001000040 00000=<8%00000000mm0O 01520 1x 760 10 1521 1x 15201
OO0000000OmmOO O0O0O80x 160x 300(0 x O x [0)0 O O 160x 80x 300(0 x O x [O)

00 0160x 160x 300(0 x Ox O)O0 00 0284x 185x 95(0 x O x )

0000000000000 ooo|jooooo|obbodddd dml620-87 m16*2.0¥87mm
djm1620-97 m16*2.0*97mm
djm1610-87 m16*1.0*87mm

djm1610-115 m16*1.0*115mm



djm1610-97 m16*1.0*97mm

@ 22x @ 121=97mm|djy2212-97 @ 17x @ 12|1=97mm|djy1712-97 @ 17x% ¢ 12|=87mm|djy1712-87
m16*1.5*115mm]|djm1615-115 m16*1.5*97mm|djm1615-97 m16*1.5*87mm|djm1615-87 O O O djy2212-115 87
oYmmOO000000DOODO

diyl712-1158797mmUI 000000000 DOO0O

djm1615-115879/mmUO 0 0 000000 OO0OO

djm1615-11500 0 O
djy1712-87/970 0 O rjbs-1(0 0D 0 O 0O)0D O O djy2012-1150 0 O djm1815-1150 00 O O O bs-10 O O

djy1712-1150 O O djm1815-9700 0 O djy2212-87/9711 U U djm1615-970 O OO djm1615-870] [0 O
djm1815-8700 0 U djy2212-11500 00 0 dj2212-13000 O O dj2212-1550 0 0 DO 0030 00O D OO

gooobbodoooooobobbbooooon

oooo:
00000000000 000000
djm1615-97,djm1615-87,djm1615-115
,djm1815-87,djm1815-97,djm1815-115,
djy2212-115,djy2212-97,djy2212-87 ,m16*2.0*115mmO djm1620-115

djy1712-115,djy1712-97,djy1712-87 djm1810-870 djm1820-970] djm1820-870 djm1820-1150 djm1810-97
djm1810-115 djm1610-970 djm1610-870 djm1610-1150 djm1820-970 djm1820-115

djm2015-87,djm2015-97,djm2015-1150] djy1815-97,djy1815-87,djy1815-115



guoooobobogooooon

O0000o0dmiDoOO0oDoooooobooooooooYoooooooooooog
gobobobbbooooooo,oooo,nboo,obooob.
dmiODDO00O00000000D00uwdzDOODODOO0OD0DDOO0O0O0O0O0ODDL,00000b000D0DO0
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
Jooobbo0ooooobbbbtbdoodubbbbbdi000 000U b Ub b= 5400
O00O<2mpal 000002 100mw Oph=100 00 0000O0O0O0OODO0O
O0000000009%9%% 00000 0000000000 @WOOLeri8niotyddng :

guoouobbbtuoogoboobbgoooooooog

dmdy 0000000000000 0OuwdzDODOODO0DDOO0O0ODODODO0ODO0OO0,0D00000D0DO0
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
O00000000000000b0000000b00b0b000bD00nn kstt-djy2212-1150
0000190 0000|0000 kstt-djm1815-870 O 0O O O 19/0
O000dmiDDO0O00O0O0D0000 miexl5*1155mmO0 000 19/0 0D000|0D000000O0O
O0o0bobooobooboboobuoobobooboobodmiels/nsdobooonooooboon
O00000 O djm1610\115,djm1815-87,djm1815-97,djm1815-115,

guodoobbogogad

dy/dmOOOODOOOOOOO0ODOO0OOuwdzOODDOODOOODODODOODOOO,bDO00DO0ODDOO
guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon



guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
Odjy2212-1158797mm 0 00 DO DO O0OD0OO0OODOO0ODO DOOO@ 17x @ 121=97mm|djy1712-97
000000000 dm1620-87 m16*2.0*87mm

djm1620-97 m16*2.0*97mm

djm1610-87 m16*1.0*87mm

djm1610-115 m16*1.0*115mm

djm1610-97 m16*1.0*97mm

@ 22x @ 121=97mm|djy2212-97 @ 17x @ 12|1=97mm|djy1712-97 @ 17x% ¢ 12|=87mm|djy1712-87
m16*1.5*115mm|djm1615-115 m16*1.5*97mm|djm1615-97 m16*1.5*87mm|djm1615-87 O 0 O djy2212-115 87
oYmmOO000000DOODO

diyl712-1158797mmUI 000000000 DOO0O

djm1615-115879/mmUO 0 0 000000 OO0OO

dmi1615-1150 0 0 000000000000 DO0O0O000OD0DDLOO0o0bODOo0ooDbOoooDoooDDbOooo
gooooo

O0000000D0000000D0000000Db000000D0DOdjy2212-115kstt O
00000O0dm1815-870 O O

dy/dmOODO0000000000D0O00000000999.%00000000000000O00O00O0O
O0DO000oOoooO,0b000,0000,0000.000000 000

dmleloO 115000000000 0000O0OODOOOd

djy1812/970 O O O O O O O O O http://ch.gongchang.com/

O0000D00000000O http://shopl424919684944.1688.com

0000000 O :http://my.b2b.makepolo.com/ucenter/supply _index.php

O000000OD DO http://tangjiguang.jdzj.com/ 0 O O O O O O http://www.kshc2014.com/





http://www.tcpdf.org

